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� � ����� ��
)� ��!� ����! �"# . 
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*��� +"� 
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*� 0��� /. 
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� : 
 ���
)1:( 

��*1�� �� ���� �
�  ��!� .�����2 3��� : 
52� �% ��#
 0��P �% F. 

����&��� :{ },P FΩ = 0��� /����)�6� 7��& �� ���)��� 

/����)�6� ��) .�� !5�� 
)� Ω����)�# 0��� . 

 ���
)2:( 
 0�� (��2� 8���54 �� !9� 
�2� /�!) 1 :2 :3 :4 

8���5�� �� ���!) �2�� �; ��� ��-��.� <2��. 
	 �)�� Ω/����)�6� ��) : 

 �)��{ }1, 2,3, 4U =/�!)�� �� ���)��� ����&��� . 
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� �1��=� �� >!��� �� ����)�# 
4 !5��� 
 ����&���U .�"#: 
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2.1
card CΩ = = =  

������: 

{ } { } { } { } { } { }{ }1, 2 , 1,3 , 1, 4 , 2,3 , 2, 4 , 3, 4Ω = 

 ����)�6�{ }2,3?�2�� 8�2� " : ���!) 0�� 
�52��

 (���� ������&�5."  

�6�� ����){ }1, 43�") . 

����&��� :{ } { }{ }1, 4 , 2,3A =�,�2 0��� . 


���� : �)��A?�2��  " : (���� A��&� 0�� 
�52��5."  

3�������
 : 
 ����&���� ��-��.� ��
*� 
) ��!�Ω 7��& �� ���)��� 

����)���� /��2. 
1	 Ω/����)�6� ��) 0��� . 
2	 �� !5�� 
) Ω����)�# 0��� . 
3	 �B& 
) A �� Ω�,�2 0���  . ��)�� ��������

( )P Ω ����&� �� ?��29�. 

4	 ?�2�� ∅
�2����� ?�2�� 0��� . 
5	 ?�2�� Ω��)9� ?�2�� 0��� . 
6	��-������ ?��29� 0��� ����)�# �� ���)��� ?��29� . 
7	 �)�� B 2�,��Aو  
	 ?�2�� A B∩  ?�2�� 0���B  .Aو
	 ?�2�� A B∪ ?�2�� 0��� A �% B. 

	��� 
 ��,�2�� �# B  ��� ��) �"# ���&��� !�C� A �"#و
 ��)A B = ∅∩. 
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 �� �� !� ����� '��&� ��
)� ��!� ��!�1 0�# 6. 

/����)�6� ��) :{ }1, 2,3, 4,5,6Ω = 

	 0�� �2�� $2 ����� 6 � !�� 0�� 
�52�� 1. 
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���2� �# 
���1 �� 
1

6
 ?�2�� 
���2� �% A 

" 0�� 
�52��1 "  ��( ) 1

6
p A =. 

	�� ��-������ ?��2�� 
���2� : 

   { } { }( ) 1
1,2,3,...,6 ;

6
i p i∈ = 

2������ : 
����&��� !��
� :{ }1 2, ,..., na a aΩ = )  /����)�6� ��) ( 

 ����2� ���!� �  ���# 
���p 0�� Ω !5�� 
) ����! �"# 

ia ����2 ��
� ip ?�2� 0 1ip≤ ≤ � 
1

1
n

i
i

p
=

=∑ 

<�)�� :( ) { }( )i i ip a p a p= = 

	 F�B�� ( ), pΩ������ ������2� ���*� 0��� . 

3�$%� ��
��
 : 
 �)��( ), pΩ �)��� ������ ������2� ���*� A�,�2 . 

 ?�2�� 
���2�A ��-������ ?��29� /����2� A��&� �� 
'��)� ����. 

��
� :��) �"# :{ }1 2, ,..., nA a a a= 

��� :( ) ( ) ( ) ( )1 2 ... np A p a p a p a= + + + 

�&�'
: 
 �)��( ), pΩ������ ������2� ���*� . 

1	  �)��A�,�2  . �����( )0 1p A≤ ≤. 

2	 ( ) 0p ∅ = 

3	 ( ) 1p Ω = 

���
�: 
 ���
1 : !��
�{ },P FΩ = 

	 
���2�� !��
� 1p��� ��� G!
���  : 

( ) ( )1 1

1 1
,

2 2
p F p P= =. 

	 
���2�� !��
� 2p��� ��� G!
��� : 

( ) ( )2 2

1 2
,

3 3
p F p P= = 
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(��
�: 
 �� �� !� '��&� ��!� ��!�1 0�# 6H�.I�� . 


���2�� J1� ��� ��&�B �� ! 
�2� ���� +�&��� ?�2� .

���2�� J1� ��� ���!� �� ! 
�2� ���� +�&����. 

 
�52�� 
���2� G��*� �&�B � ! 0�� 
�52�� 
���2��
(�!� � ! 0��. 

1	 �&�B � ! 0�� 
�52�� 
���2� <�2�. 
2	  
 G��*� 0�� 
�52�� 
���2� <�2�3. 
3	  
�52�� 
���2� <�2�(�!� � ! 0��. 

 �)��Ω/����)�6� ��)  :{ }1, 2,3, 4,5,6Ω = 

��-������ ?��2�� 
���2� <�2��. 

 ����� ( ) ( ) ( )2 4 6p p p x= = = 

� ( ) ( ) ( )1 3 5p p p y= = = 

������ : 2x y= 
�% ��
��: 

( ) ( ) ( ) ( ) ( ) ( )1 2 3 4 5 6 1p p p p p p+ + + + + =  

��
� 3 3 1y x+ = 
��
� 3 6 1y y+ = 

 9 1y =  

 �"# 
1

9
y = �    

2

9
x = 

�"#: ( ) ( ) ( ) 1
1 3 5

9
p p p= = = 

 ( ) ( ) ( ) 2
2 4 6

9
p p p= = = 

1	 �)�� A ?�2��  " �&�B � ! 0�� 
�52��." 

�����: { }2, 4,6A = 

 �"#( ) ( ) ( ) ( ) 6 2
2 4 6

9 3
p A p p p= + + = = 

2	 �)�� B ?�2��  " 
  G��*� 0�� 
�52��3."  

 �����{ }3,6B = 

 �"#( ) ( ) ( ) 1
3 6

3
p B p p= + = 

3	 �)�� C ?�2��  " (�!� � ! 0�� 
�52��." 

����� { }1,3,5C = 

�"#: ( ) ( ) ( ) ( ) 3 1
1 3 5

9 3
p C p p p= + + = = 

4������) : 
 �)��( ), pΩ������ ������2� ���*� . 

 ����))1:( 
 �)��B 2�,�� �A ?�2و A B = ∅∩ 

����� :( ) ( ) ( )p A B p A p B= +∪ 

(�*�+: 
 7*�{ }1 2, ,..., nA a a a= 

     �{ }1 2, ,..., nB b b b= 

����� :A B = ∅∩ �"# i ja b≠ 

�"# :{ }1 2 1 2, ,..., , , ,...,n nA B a a a b b b=∪ 

 �"#

( ) ( ) ( ) ( ) ( )
( ) ( )

1 1... ...n np A B p a p a p b p b

p A p B

= + + + + +

= +

∪

�&�'
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	 �)�� 2 1,..., ,nA A A0�,� 0�,� ��51�� �,��2� . 

��
� :i ji j A A∀ ≠ = ∅∩ 

����� :( )
11

n n

i i
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p A p A
==

  = 
 

∑∪ 

 ����))2:( 
 �)��B 2�,��Aو . 

 �����( ) ( ) ( ) ( )p A B p A p B p A B= + −∪ ∩ 

(�*�+: 
 �����( )A B A B A= −∪ ∪ 

 ������( )A B A− = ∅∩ 

�"# :( ) ( )( )p A B p A B A= −∪ ∪ 

      ( ) ( ) ( )p A B p A p B A= + −∪ 

������: 

 ( ) ( )B A B B A= −∩ ∩ 

� ( ) ( )A B B A− = ∅∩ ∩ 

 �"# ( ) ( ) ( )( )p B p A B B A= −∩ ∪ 

 ( ) ( )p A B p B A= + −∩ 

 �"#( ) ( ) ( )p B A p B p A B− = − ∩ 

'��� :( ) ( ) ( ) ( )p A B p A p B p A B= + −∪ ∩ 

 ����))3:( 
 �)��A�,�2  .�A 
 ��*��� ?�2�� A. 

����� :( ) ( )1p A p A= − 

 
(�*�+: 

 �����A A Aو A= ∅ = Ω∩ ∪ 

�"# ( ) ( )p A A p= Ω∪ 

��
� ( ) ( ) 1p A p A+ = 

 �"# ( ) ( )1p A p A= − 

 ����))4:( 
 �)��B 2�,��Aو . 

 ��) �"#A B⊂ ��� ( ) ( )p A p B≤ 
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5��!�
��!
 ,��-� ����. : 
a(����� : 

 �)��( ), pΩ������ ������2� ���*� . 

 ���� �"# /����2�� (���� ��*!� 8�2� ��*1�� �"� �# 
���

���2�� J1� /����)�6� 
)� ��) �"#. 

 �)��( ), pΩ(���� ��*!� 8�2� ������2� ���*�  

/����2��  

 (*7*� :{ }1 2; , ,..., nCard n a a aΩ = Ω = 

��-������ ?��2�� 
���2� <�2��: 

����� :( ) ( ) ( )1 2 ... np a p a p a x= = = = 

������ :( ) ( ) ( )1 2 ... 1np a p a p a+ + + = 

��
� :... 1x x x+ + + = 
         n>!�  

 ��
�1nx = 

 ��
�
1

x
n

= 

 (%
1

x
card

=
Ω

 

�"#: { } ( ) 1
1,2,..., ii n p a

card
∀ ∈ =

Ω
 

 (* �)��A ?�2� �,�2 CardA q=  

 �����A 0�� (��2� q����)�#  . ������( )p A A��&� �� 

����)�6� +"� /����2�/. 

 
���2�� J1� ��� /����)�6� +"��
1

n
  

 �"#( ) 1 1 1
...p A

n n n
= + + +  

q>!�  

 �"#( ) 1
.p A q
n

= 

 ( ) cardA
p A

card
=

Ω
 

����): 
 �)��( ), pΩ� ������ ������2� ���*� ��*!� 8�2  (����

/����2��. 

 (* �� ��-������ ?��2�� 
���2�
1

CardΩ
 

 (* ��) �"#A��� �,�2  :( ) CardA
p A

Card
=

Ω
. 

 
�&�'
: 

 (* !5���Ω��)���� /��2�� 0��� . 
 (* !5���A���� <�C!��� /��2�� 0��� . 

    

=( )p a 

 (* M��� �� !�$� �% �)�� /����2�� (���� ��*!� �#
>!.��� !�C ���!�� �% �2�25 >!��
� .N,� : �!� ��!�

 ����� B������ �)�� � /�!) 0�� (��2� 8���5 H�.I�
J�����... 

��/�+�� (���
�: 
�
�(�1 

 0�� (��2� 8���55 �� !9� 
�2� ��*�� 1 ,2 ,3 ,4 ,5 � 
3 �� !9� 
�2� ����� /�!) 1 ,2 ,3. 

 � !�� �N�2� ����!�2 ���!)�1 ,2. 
 ��-��.�� ���P� <2��3 8���5�� �� /�!)  ) � /�!)��

 J����� ����� B������ �)��.( 
0�� 
�52�� 
���2� <�2�: 

1 (3��*�� /�!) . 
2 (3 /�!) ����� J1� ��. 
3 (���!� �� ! 
�2� ��*��� >�2�� >!). 
4 (��&�B �� ! 
�2� 
 9� 0�� >�2�� >!). 
5 (��*�� !,)9� 0�� >�2�� >!). 
6 (3�&�B �����&� ��� !% 
�2� /�!) . 
7 (3(�!� �����&� ��� !% 
�2�� ����� J1� �� /�!) . 
8 (30�,� 0�,� ����9� �1��Q� /�!) . 
9 (��� �������* . 
   

 �)��Ω/����)�6� ��) . 
 
 �1��=� �� >!��� �� ����)�# 
)3 ��� �� !5��� 10 

 ����&��� !5���U: 

{ }1 2 3 4 5 1 2 3 1 2, , , , , , , , ,U B B B B B N N N R R= 

�"#: 3
10

10.9.8
120

3.2
Card CΩ = = = 

1 ( �)��A?�2��  : " 0�� 
�52��3 ��*�� /�!) ." 
 �� ����)�# 
)A 
 �1��=� �� >!��� �� 3 ��� �� !5��� 

����&��� !5���  :{ }1 2 3 4 5, , , ,B B B B B  

�"#: 3
5

5.4.3
10

3.2
CardA C= = = 

�"#: ( ) 10 1

120 12

CardA
p A

Card
= = =

Ω
  

2 ( �)��B ?�2�� " : 0�� 
�52��3 ����� J1� �� /�!) 
 " ?�2��B 0�� 
�52�� ��
� 3B �% 3N 

 �"# 3 3
5 3 10 1 11CardB C C= + = + = 

�"# ( ) 11

120

CardB
p B

Card
= =

Ω
 

3 ( �)��C�2�� ? " : ���!� �� ! 
�2� ��*��� >�2�� >!) " 
 ?�2��C 0�� 
�52�� ��
� 3I � 2P 

�"#: 

 1 2
6 4. 6.6 36CardC C C= = = 

�"#: 

 ( ) 36 3

120 10

CardC
p C

Card
= = =

Ω
 

4 ( �)��D2�� ?� " : �� ! 
�2� 
 9� 0�� >�2�� >!)
 ��&�B" 

���� <�C!��� /��2�� ��� 

��)���� /��2�� ��� 
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 ?�2��D0�� 
�52�� ��
�  :( )1 ; 2I P �% 

( )2 ; 1I P �% 3P. 

 �"#  

2 1 1 2 3
4 6 4 6 4. .

4.3 6.5
.6 4. 4

2 2
100

CardD C C C C C

CardD

= + +

= + +

=

  

 �"#      ( ) 100 5

120 6

CardD
p D

Card
= = =

Ω
 

 ���!�2 : �)��D 
 ��*��� ?�2�� D 

 ?�2��D 0�� 
�52�� ��
� 3I 

   3
6 20CardD C= = 

�"# : ( ) 20 1

120 6
p D = = 

 �"#  ( ) ( ) 5
1

6
p D p D− = 

5 ( �)��E ?�2��  " ��*�� !,)9� 0�� >�2�� >!)" 

 ?�2��E 
�52�� ��
� ( )1 ; 2B B �% 3B 

�"#:  1 2 3
5 5 5.CardE C C C= + 

      5.10 10 60= + = 

#�"  ( ) 60 1

120 2

CardE
p E

Card
= = =

Ω
 

6 ( �)��F ?�2��  "3 �&�B �����&� ��� !% 
�2� /�!) 
" 

 ?�2��F 0�� 
�52�� ��
� 3P �% ( )1 ; 1 IP B  

 �"# ( ) 64 8

120 15

CardF
p F

Card
= = =

Ω
 

7 ( �)��G ?�2��  "3 ���� !% ����� J1� �� /�!) 
 (�!� �����&�" 

 ?�2��G 0�� 
�52�� ��
� 3 IB �% ( )2 ; 1p IB B 

�"#: 3 1 2
3 3 2. 4CardG C C C= + = 

�"# ( ) 4 1

120 30

CardG
p G

Card
= = =

Ω
. 

8 ( �)��H ?�2��  "3 0�,� 0�,� ����9� �1��Q� /�!) ." 

 ?�2��H 0�� 
�52�� ��
� { }1 ,1 ,1R N B 

�"# : 1 1 1
5 3 2. 30CardH C C C= + = 

�"#: ( ) 30 1

120 4

CardH
p H

Card
= = =

Ω
 

9 ( �)��J ?�2��  " ��*��� ����� 0�� 
�52��" 

 ?�2��J ��
� { }2 ;1B B �% { }2 ,1N N �% 

{ }2 ,1R R 

�"#:  2 1 2 1 2 1
5 5 3 7 2 8. . . 79CardJ C C C C C C= + + = 

�"#: ( ) 79

120

CardJ
p J

Card
= =

Ω
 

 

 (��
�)2:( 
!� ��!� �� �� !� �2�� 
) +�&� ���1 0�# 6 !�C� 
��.�.I�. 

0�� 
�52�� 
���2� <�2�: 
1 (�������� ��� !. 
2 (��1��Q� ��� !. 
3 (�&�B ������&� ��� !. 
4 ( (���� �% !I5% ������&� ��� !6. 
 

B�!� < ����)�# 
)� ( ),x y ?�2 x�� � !��  �!1�� '��� ("

� 
�9�y���,�� �!1�� '��� ("�� � !��  . �)��Ω ��) 
/����)�6� . ��!5�
� !�!)�� ����!� �� >!��� �� ����)�# 
)

 ��� ��6 !5��� E :{ }1, 2,3, 4,5,6E = 

  �"# : 26 36CardΩ = = 
1 ( �)��A ?�2��  " �������� ��� ! 0�� 
�52��." 

����� :( ) ( ) ( ) ( ) ( ) ( ){ }1,1 , 2, 2 , 3,3 , 4, 4 , 5,5 , 6,6A = 

�"#  6CardA = 

'���:  ( ) 6 1

36 6

CardA
p A

Card
= = =

Ω
 

2 ( �)��B ?�2��  " 0�� 
�52����1��Q� ��� !" . 

 �)��B 
 ��*��� ?�2�� B 

 �����B A= �"#  ( ) ( )p B p A= 

  �"#      
( ) ( )

( )
1

1

p B p B

p A

= −

= −
 

  ( ) ( ) 5
1

6
p B p A= − = 

3 ( �)��C ?�2��  " �&�B ������&� ��� ! 0�� 
�52��
." 

6 5 4 3 2 1  
7 6 5 4 3 2 1 
8 7 6 5 4 3 2 
9 8 7 6 5 4 3 
10 9 8 7 6 5 4 
11 10 9 8 7 6 5 
12 11 10 9 8 7 6 

����� 
��&�� 
NQ ��   18CardC = 

�"#:  ( ) 18 1

36 2

CardC
p C

Card
= = =

Ω
 

4 ( �)��D ?�2��  " !I5% ������&� ��� ! 0�� 
�52��
 (���� �%6"  

����� 
��&�� 
NQ ��:  15CardD = 

�"#  ( ) 15

36

CardD
p D

Card
= =

Ω
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III�0���	
 ��
��!
 : 
1 (���
: 

��.�.I� !�C ���!� ��!� :A�B . ����� �2�� 
) +�&�
 �� �� !�1 0�# 6. 

 �)��Ω/����)�6� ��) . 

�����:  { }/ 1, 2,3, 4,5,6E E EΩ = × =  

 36CardΩ = 
 �)��B?�2��  " : (���� �% !�)% A��&� 0�� 
�52��10 

" 

����� :( ) ( ) ( ) ( ) ( ) ( ){ }4,6 , 5,5 , 5,6 , 6, 4 , 6,5 , 6,6B = 

�"#: ( ) 6 1

36 6

CardB
p B

Card
= = =

Ω
 

 �!��� �% ����� �  ���% R!�1�A � !�� ��� �  6. 
��)���� /��2�� S�5� !�Q�� �"� ���%: 

( ) ( ) ( ) ( ) ( ) ( ){ }6,1 , 6, 2 , 6,3 , 6, 4 , 6,5 , 6,6 

���� <�C!��� /��2���: 

   ( ) ( ) ( ){ }6, 4 , 6,5 , 6,6 

 
���2� �"#BS�5� : 

  ( ) 3 1

6 2
p B = = 

 ?�2�� 
���2� 0��� 
���2�� �"�B ?�2�� �% ���� A �  
 ?�2 8�2�A ?�2�� ��  " �!���A � ! ��� 6."  

 < '� B�!��( )p B A �% ( )1P B 

 �"# ( )1

1

2
P B = 

�&�'
 : 
 

 

( )

( )
( )

( )

3 3 36

6 6 36
p B A

Card A B
P A BCard

CardA p A
Card

= =

Ω= =

Ω

∩

∩
 

�"#  ( ) ( )
( )

p A B
p B A

p A
=

∩
 

2 (�����: 
 �)��( ), pΩ���� ������2� ���*� ��. 

 �)��BوA ?�2� ��,�2 A B≠ 
 ?�2�� 
���2� ����B ?�2�� �% ���� A ("�� ��
�� 8�2� 

 < '� B�!�( )p B A �% ( )Ap BG!
���� ��� ��� : 

  ( ) ( )
( )

p A B
p B A

p A
=

∩
 

 
 
 
 

�&�'
: 
��� /����2�� (���� ��*!� ����� /��) �"#: 

   ( ) ( )Card A B
p B A

CardA
=

∩
 

��/�+�� (���
�: 
 (��
�)1:( 

 0�� (��2� 8���56 �� !9� 
�2� ��!�2 /�!) 0 ,0 ,1 ,
1 ,1 ,1� 8��*�� /�!)  :0 ,0 ,0 ,1 ,1 ,1 ,1 ,1. 

 <2��8���5�� �� ���!) ���P� 
1 ( � !�� �N�2� �����2���� ���!)�� /��) �"#1 �� ��� :

T����*�� ���)� �)� 
���2�� 
2 ( ����� J1� �N�2� ���!) 0�� 
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�52�� 
���2� �� �� 3 ����� J1� �� /�!) 4 

*��� /�!�T�� 
 ��	
 

	 �)�� A ?�2��  " 0�� 
�52��3 ����� J1� �� /�!) 
 >�2�� ��2� ��." 

�����  ( )
3 3
3 4

3
9

5

84

C C
p A

C

+= = 

	 �)�� B ?�2��  " 0�� 
�52��3 ����� J1� �� /�!) 4 
 ��*��� /�!�." 

 ?�2��B ��
�  " ?�2��A 8�2�� 4 /�!� ." 
�"#: 
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( ) ( ) ( )( )

( )

6 444
6

4 2
4
6

1

5 79

84 84

p B C p A p A

p B C

−
= −

   =    
   

 

 (��
�)2:( 
 0�� (��2� 8���52 ,4 ,3N R B 

 
N2��� 7����� <2��68���5�� �� /�!) . 
T��*��� ���!� ��!�2 >!) 0�� 
�52�� 
���2� �� �� 

 ��	
 
 �)��A ?�2��  " >�2�� ��2� �� ��!�2 >!) 0�� 
�52�� " 

�����:  ( ) 4

9
p A = 

 �)��B ?�2��  " ��*��� ���!� ��!�2 >!) 0�� 
�52��" 
     B ��
�  " ?�2��A�  ��*��� ���!� 8�2�." 

�"# : ( ) ( ) ( )( )6 222
6 1p B C p A p A

−
= − 

    ( )
2 4

2
6

4 5

9 9
p B C

   =    
   

   

 

 (��
�)3:( 
G�� ���5# 0�� �!��� ��!. 

�� >�2�� ���� �� G���� ���5# 
���2� :
2

3
p = 

 G���� ���5# 
���2� �� ��6 �
� /�!� 20T����  
 ��	
 
 �)��A ?�2��  " >�2�� ���� �� G���� ���5#." 

�����:  ( ) 2

3
p A = 

 �)��B ?�2��  " G���� ���5#6 /�!� ." 
     B ��
�  " ?�2��A 8�2�� 6 ��*��� /�!� ." 

�"#  ( )
6 14

6
20

2 2
. 1

3 3
p B C

   = −   
   

 

       ( )
6 14

6
20

2 1

3 3
p B C

   =    
   

 

 

 (��
�)4:( 
 ������ :����� �� !�&� >!��B� < �!� ����20. 

 �� ���&�� !&���� < �!��� �&� �)� 
���2�� >!��B 
) ��
2

5
p = 

 < < �!��� �� 10/�!��B  . ��)� �)� 
���2�� �� ��
�!��� �&� �  < 6!�&� . 

 ��	
 
 �)��A ?�2��  " >�2�� >!��B �� !&���� �&� < �!���" 

�����   ( ) 2

5
p A = 

 �)��B ?�2��  " �&� < �!���6 !.
�� /�!��B�� �� !�&� " 
     B ��
� " ?�2�� A 8�2�� 6 ��*��� /�!� " 

�"#:  ( )
6 4

6
10

2 2
. 1

5 5
p B C

   = −   
   

 

       ( )
6 4

6
10

2 3

5 5
p B C

   =    
   

 

 

 (��
�)5:( 
 0�� 8���5 (��2�4 � ��!�2 /�!) 3��!*Q /�!) . 

8���5�� �� >�2�� >!) <2��. 
 * � �� ��� �� ���!) ���P� <2�� ��!�2 /��) �"#/�!)��. 
 * ��� �� ���!) 
N2# ����� 7����� <2�� ��!*Q /��) �"#

/�!)�� � ��. 
1 ((aT��)���� /��2�� ��� �� ��  

   (b 0�� 
�52�� 
���2� <�2� 3����� J1� �� /�!) . 
 (2 �� ��� :��*��� ����!*Q ���!) 0�� ���52 '�% ����� �"#

*Q ���2���� 0��9� >!)�� ��)� �)� 
���2��T��! 
 ��	
 
1 ( < ����)�# 
)� B�!�( ),x y ?�2 x ��2��� �&��� 

 � 0��9�y����,�� ��2��� �&��� . 
(a �)�� Ω/����)�6� ��) . 

�� ���)� ��)���� /��2��: 
	��� /��2��  ��2��� �� ��!�2 >!) 0�� ���� 
52� �

�� ������ 0��9� :  2
64. 4 15 60C = × = 

	 ��2��� �� ��!*Q >!) 0�� ���� 
52� ���� /��2�� 
�� ������ 0��9�:  3 6 5 90× × = 

'���: 
   150CardΩ = 

(b �)�� A2��  ?� " 0�� 
�52��3 ����� J1� �� /�!) " 

 A 0�� 
�52�� ��
� ( ), 2R R �% 

( )( ), ,V V V 

 �"#: 

  
( )

( )

2
3
2
6

4 3 2 1
. . .

7 7 6 5

1

7

C
p A

C

p A

 = +  
 

=
 

2 ( �)��B ?�2��  " 0�� 
�52��2V ��*��� ." 
 �)��   C ?�2��  " ��!*Q 0��9� >!)��" 

 �� <������ 
���2��( )p C B 

�����   ( ) ( )
( )

p C B
p C B

p B
=

∩
 

	 ����� B C∩ ��
� ( )( ), ,V V R �% ( )( ), ,V R V  

�"#:  ( ) 3 2 4 3 4 2
. . . .

7 6 5 7 6 5
p B C = +∩ 

         
3 2 4 8

2. . .
7 6 5 35
 = = 
 
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	 ?�2�� B ��
� ( )( ), ,V V R �% ( )( ), ,V R V �% 

{ }( ), 2R V. 

�"#:  ( )
2
3
2
6

8 4 12
.

35 7 35

C
p B

C
= + = 

'���:  ( ) 8 2

12 3
p C B = = 

 
 
 
 
  
 

 
 


